WL Cr Sloon

MTH 132 PRACTICE Exam 1 October 9th, 2016

AN

Standard Response Questions. Show all work to receive credit. Please | BOX | vour final answer,
LEINAA T D

1. Given f(z) = 2cos{z) — sin(2z)
(a) (8 points) Find f'(z).
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(b} {5 points) Find the slope of the tangent line to f{x) at the point z = 7.
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{c} (5 points) Find the equation of the tangent line to f(x) at the point where x = 7.
Tt e ﬁwoﬂ S ]%a (-6 + 7%3
=R sppe =fRd=-2L
'ﬁm“): URT, —SZD = 2.(-D =0 =0, WK):””}
= .

ez(/wm«'-@ = «z(x-—’/z;; + (2D W ,

Page 3 of 11




MTH 132 PRACTICE Exam 1 October 9th. 2016
2. {a) (12 points) Use th(*—ldeﬁni‘a;ion ?ﬂf the derivative to compute the derivative of f(z) = 5z + /z.
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(b) {6 points} Use your answer in pa,rT {a) to find an ejlu ation for the tangent line to f(z) when z = 4.
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MTH 132 PRACTICE Exam 1 October 9th, 2016

N

3. At time ¢, the position of an object is given by the function s = 3; — 2t% 3t — 10,

(a) {6 points) Find the object’s tac:ceieration}each time the }V@locity is zero.

vier= S>= [ B 2 toY = Lat-zat 3 ~0t=¢t+3 |
Ly = Vi) (M»»t@y = L@
V) =E-H = 0 &> (DAY= et 122
W= 2] -4 =2
=2, 0D =23 -—-Kf» =[27]

(b) (6 points) Find the object’s velocity each time the acceleration is zero.

7% & (¢} (6 points) Find the total distance travelled by the object from ¢ = 0 to = 2.
b V=T -2 = (B0 (62)
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MTH 132 PRACTICE Exam 1 October 9th, 2016

A

4. Differentiate the following functions. You need not simplify your answers.

(a) {6 poinis) vy = 3z* + 2z sin(z)

Y= (35 + [xsine)
= 343 4 (Y S + 2 (o)

/

_ﬂ/}x; + 25 X @YX

(b) (6 points) f(z) = fﬁ;
Lo BIE TR Fexte gy o)t
(13 Y~ XY= 1 460y = 0 2
L EXT D -7 ax

[ XY

(c) (6 points) r{0) = 29' + gin(56) ) ) _
s B i’ = (5= fat)=4 2

Tver 20+ 08>S Thnor! =
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MTH 132 PRACTICE Exam 1 October 0th, 2016

5. (18 points) A kite is flying at an angle of elevation of £ radians. The kite string is being taken in at the
rate of 1 foot per second. If the angle of elevation does not change, how fast is the kite losing altifude?
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MTH 132 PRACTICE Exam 1 October 9th, 2016

Multiple Choice. Circle the best answer. No work needed. No partial credit available.

. . . z2—-10, ifz<e, .
6. {7 points) Find ¢ such that the function f(z) = {E{) NN is continuous everywhere.
02 =35 ifz>c¢  me—— -
\j;/m de "Pﬂfh}t inlssue pig Y=
C. 10 Pgons Cel0 = f0C =25
39 2 ‘
D 20 & CH0¢C +285 =0
E. None of the above. _ o
= (-8 =
C=> C=%.
-
. {7 points} flz) = TR continuous on: (%D = o Y‘% A 18 (o) MABAL,
A oo UEBIUEOUG)
B. (—o0,6) U (6,00) e X (owel

O (o0, 8) U (3, 00) Denomvotolr =% Zeyo

c{—00,3) U (3,6) U (6,00}
E. None of the above, &> Xt MC? %'P [8 :\EO
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8. (7 points) Counsider proving that L2 =[1 nsing the formal definition of the limit. The largest
T
value of § > 0 so that the formal nitiolh of theflimit holds is:
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9. {7 points) Find the following limit: h

cﬁ“/\
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D.

\)}2./ None of the above.
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10. (7 points) Find the following limit: hm
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. None of the above.

,gr-%%ll. (7 points) Find the following Limit: %1_1;%
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. None of the above.
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MTH 132 PRACTICYE Exam 1 October 9th, 2016

12. (7 points) Given the equation z* + 2zy — 3 + 2 = 2, find %
A 4z 41 N T )~/
B i [xt D(’ff/ J “’”\Q/ e
CoEEE @ X )XY - ;L-%/é{/ + [ =20
D. 1=y U g
y"_E

E. None of the above. &= =X - z\g —+ QXaéf / — zg«g ! -+ } - O

increasing when the Tadius is 3 m 7

A 67 RN \/= %Kr ]f‘g \/l:-b.

470(7 Y

14. (7 points) On which interval(s) there must bela zero §f the function f(z) = 2° — 5z — 27

A. Ounly (=1,0) &> On whoh FRAALLSY toe mstbe o (.
B. Only (0,1}

y 1) and (2,3) ﬂo =0 (A=)

T (~1,0) and (2.3 - -

| E. f\‘oue ())f the {abox)fe. @ ® Zﬂ[me Hj ‘“5 H> ah h! +§ mz' =
e -, Hod=0-0 -2 =2
111o=]-5-2 =4

FO=2462 2= -4
d>=3282-2=/0
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